
Последнее обновление

60.0700.00 VB7 unload. 3/8F Bsp, inl.port:3/8M
60.0700.50 VB7 unload.out 3/8F Npt, inl.port:3/8M Npt

60.0745.21 VB7 unload. 3/8M Bsp+fix.inject. 2,1
60.0750.21 VB7 unload. 3/8M Bsp+adj.inject. 2,1

Поз Артикул Описание Коли K1K2K3K4 Поз Артикул Описание Коли K1K2K3K4
1 60.0707.31RSeat holder, 3/8F Bsp brass 1 5
1 60.0702.31RSeat holder, 3/8F Npt brass (1) 1 5
2 10.3070.02RO-ring, 1,78x18,77 mm Ni 85 2 • • 10
3 60.0259.20RSeat, 8mm + O-ring, 1,78mm 1 • • 10
4 60.1708.21RRest, M5 Sst.+ball, 11/32" Sst. 1 • • 5
5 28.0013.31RPlug, brass 1/4 Bsp ** 1 25
6 14.3911.00RWasher, 13,5x19x1,5 mm Cu ** 1 10
7 60.0717.35RHousing -VB7,3/8M c/sunk-1/4F Bsp brs. 1 2
7 60.0701.35RHousing -VB7,3/8M c/sunk-1/4F Npt brs. (1) 1 2
8 10.4024.00RBack-up ring, 7x11,6x1,2 mm 1 • • 25
9 10.3169.00RO-ring, 2,62x6,02 mm 2 • • 10
10 10.3068.01RO-ring, 1,78x17,17 mm Ni 85 1 • • 10
11 60.0708.31RPiston holder, brass 1 10
12 16.2100.00RSet screw, DIN914 M4x4 mm 1 10
13 60.1018.31RRing nut, M18x1 brass 1 10
14 60.0704.99RPiston, M6 Sst.+or+p/back N 1 10
15 10.4023.00RBack-up ring, opn. 6,4x11x1,2 mm 1 • • 10
16 10.3213.00RO-ring, 3x6 mm 1 • • 10
17 60.0052.99RShutter pin, brass+o-ring 3x6 mm 1 10

18 60.0053.51RSpring, 0,7x9x20 mm Sst. 1 10
19 60.0058.31RDelivery coupl., 3/8F Bsp brass 1 5
19 60.0059.31RDelivery coupl., 3/8F Npt brass (1) 1 10
20 60.0310.61RSpring guide, z.pl. 1 10
21 60.0313.61RSpring, 3x12,3x41 mm 1 10
22 60.0304.31RValve regulating knob, brass 1 5
23 60.0315.84RKnob VB 7 / 130,plast, hexag.22 ** 1 10
24 21.0261.31RInject.hous.,M22x1,5M-3/8M Bsp brass (2) 1 3
25 21.0213.51RNozzle, M8x1 - 2,1 mm Sst. 1 10
26 21.0160.51RTapered spring, Sst. -inject. 1 10
27 14.7420.01RBall, 7/32" Sst. Aisi 316 1 10
28 10.3049.00RO-ring, 1,78x5,28 mm Vi 70 1 10
29 21.0003.31RHose barb, 8 - M12x1 mm brass 1 10
30 21.0173.31RCoupling, M12x1-1/4M Bsp brass 1 10
31 21.0158.51RSpring, 0,8x7x15 mm Sst. 1 10
32 10.3043.01RO-ring, 1,78x4,48 mm Vi 70 1 10
33 21.0155.99RHose barb, d.8 mm brass+o-ring 1 5
34 21.0171.84RInject.knob, 1/4F Bsp black 1 10
35 21.0100.00RRegul.+h.barb 8-M12mm brs. inje. 1 50

** По запросу

КИТ Артикул Описание
K1 60.0722.24 Spares kit -VB7, 9x5pcs. 1
K2 60.0719.24 VB7/3 valve, repair kit pcs.9x1 1

(1) 60.0700.50 (2) 60.0750.21


